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Following a series of gene-cloning experiments, you have obtained the sequence of your favorite gene
(YFG) from the mouse genome as indicated below. Besides the sequence of YFG, you have also
obtained its exact position of transcription start (denoted by the underlined nucleotide) using the
mRNA sequence coded by the gene. Your data indicate that YFG does not contain an intron. Using
the following sequence: (1) indicate the longest mRNA sequence possibly coded by this gene; (2)
show the typical post-transcriptional modifications and where they occur on the mature YFG mRNA
sequence; (3) indicate the most likely position of transcription regulatory sequences for YFG; and (4)
derive a peptide sequence for YFG protein. For all nucleic acid and polypeptide molecules, please
indicate the orientation of the molecules using the appropriate end labels.
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GGAAGTCACAGCCAAAGAAATTCTGTGATTACTGCAAGTGCTGGATAGCAG
CCTTCAGTGTCGGTTTCTTTCCGACACTAATGACGTTCACGACCTATCGTC
GGAAGUCACAGCCAAAGAAAGGCUGUGAUUACUGCAAGUGCUGGAUAGCAG
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TGTTATCCGGATCACAACTTAAAGTAATCAACGTC
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